[R)AE T R 5 5
1. Hurewicz 5F3H:
(@ 7 X &, mo(X) =0, H(X,Z) = m(X)/[m(X), 71 (X)]GEEA
HERI BT DURA);

b) & n>1LE X BA (n—1)— & i mn(X) =m(X) = .. =
1 (X) = 0=, (X) & Ho (X, Z);

(o) Bk _E m,(S™) 2 Z;
2. Hopf £F4Efk: St — S% 5 S2, 40740 T
S* izl +alP =1 (20,21) €C*
S%:zP 422 =1 (z,m)e(CxR’
(b) I E S p: C* — C x R SEfr FLAH T p: S° — S*
{pumzn——@aﬂfmaﬁ——uu%

122027 % + (|z0* = |211*)® = (l20)* + |21]*)?
C% A p(z0,21) €S2 CC x R;

© BUE (2,2) € 52, p(20, 21) = (2, %) BB (20, 21) HIE S

2202 = 2 H=e®z | 22021 = 2
e
|20]* = || = @ |21* = 211 = =

3. Hopf P4 I KTEATFA: . — s (51) = T (5%) = Tpia(57) —
T (SY) = m(S?) — .

(@ 53,52 43 HIH N C? & CxR {

:>V(Z(),Zl) S SB C

@ n =1 AN 1(S?) = 11(S?) = 0, Ll 0 — m(S?) — m1(S1) =
Eﬂ 71'2(52) = ’ﬂ'l(Sl) =7

) n > 2 FH ma(5Y) = m(8Y) = 0, FFLO = mua(5%) —
7Tn+1(52) — 0, [ 7Tn+1(52) = 7rn+1(53);

(©) HERHIRY: m3(5?) = 73(5?) =



